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17 Maths

21 Class reading

31 English (grammar)
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51 PE

. . A REMEMBER THE 3
61 Computing BOURNEBROOK WAY




MARKING TIME

Read and Write Roman Numerals up to 1,000 Back to Basics A
71 A .
1) 711 5) 15 - or—
or 115.17
2) 438 6) 10,746
3)  COXXI 7) 8704 3
4)  DCLXXV 8) 5408

Maths answers




Set A

. 34

2. 12

3. 12
Set B

. 25

Z.: 10

3. 10:3
Set C

1. 45

2. 120

v oA

%

4 7. 18
16 8. 6
1:3

80 7. 30
45 8. 2
12

3. Yes, the ratio of rock CDs to pop CDs is 15:30.
Divide both sides by 15 to give 1:2.

4. 11
5. 35
6. £4
1. 75
8. 80 litres

Maths answers




Page 76 — Word Endings — the ‘shus’sound

1. overcautious, suspicious, conscious, atrocious
2. fictitious, vicious, delicious, precious

3. Any sentence where the word is used correctly.
Examples:
Infectious diseases can sometimes spread quickly.
Julian is very ambitious.
| try to eat a nutritious meal every day.

Page 77 — Word Endings — the ‘shul’sound

. potential, special, confidential, initial

). martial essential, artificial, social,
substantial, influential

3. racial, partial, spacial

English answers




Y6 MATHS

LO: Mini Maths.

Answer the following questions in
your vellow book:

For a reminder on factors and
prime numbers, watch:

wiwiwl _mlyimlilnlilmlal tihls [ 1Clo [ Julk

Weelk 19 - Monday

Highest Common Factors & Prime Numbers Back to Basics
Calculate the highest common factor for
each pair of values: 5.) 1820 N
) 28 -
1) 20 and 12

6.) 50944 x 32 =
2) 35 and 15

7. 4,399 + 6439 =
Which of these values are prime numbers? ) ! :

) 4, 7, 40, 51 B.) 6008 - 4448 =

a) 20, 5, 17, 93

wiwiw] muyimli[nliimialtihis [ [Clo] Julk)

https://www.bbc.co.uk/bitesize/topics/zfg7hyc/articles/zpewfcw

https://www.bbc.co.uk/bitesize/topics/zfq7hyc/articles/z2q26fr



https://www.bbc.co.uk/bitesize/topics/zfq7hyc/articles/zp6wfcw
https://www.bbc.co.uk/bitesize/topics/zfq7hyc/articles/z2q26fr

LO: To solve problems involving
uneven sharing.

Read the examples carefully.

Then complete setA, Bor Cin
your vellow book.

ip pre ou to deal wi ,
rMP‘g‘s RNy propere Y al with any pesky sharing problems

WW to work out the total number of shares firs; to make

70U might come across.
P the total much simpler,

d'rviding u
Eumples
Nico and Karen read books in the ratio of 5:1. If they read 42 books in total i oy ok M
a O read! .
There are 5 + 1 = 6 shares in total,
1 share = 42 + 6 = 7 books
Nico reads 5 shares, so he reads 5 x 7 = 35 books.

for every 2 paintings that Michelle finishes, Deirdre finishes 3.
They finish 75 paintings in total. How many paintings does each artist finish?

==
aAVa

Deirdre finishes 3. :

For every 2 paintings Michelle finishes...
-

There are 2 + 3 = 5 shares in total.
13’““ =75+5=15§ painting& Check your AnSwer by makding sre v 469 ’:“{

45 = 75 paintings.
L To P oL .
to the totak 30 4

0 paintings.

Michelle has 2 shares, so does 2 x 15 =3 tings.

Deirdre has 3 shares, so does 3 x 15 =45 pain
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Set A

A = of chewy sweets has 3 bubblegum chews
fu‘m cola chew. In a pack of 20 chewy sweets:
“. W many are cola chews?

@ how many are bubblegum chews?

“.t‘.“’..‘--"...

Amhs!arsfor every motorbike.
@ How many cars are there if there
are 12 vehicles in the garage?
@ How many motorbikes are there
if there are 30 vehicles in the garage!
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How many cards does each boy
collect if they collect 3 total of:

. 21 cards?
. 70 cards?

A chef served 1 vegetarian main course
for every 3 non-vegetarian main courses.

@ The chef served 32 main courses.
How many were vegetarian?
The chef also served 3 starters for every 2 desserts.

. He served 50 starters and desserts in total. .
Howumrydessemdidd\edadsaw! .

Therauoofwhlncloavesmbrownbw
made at a bakery Is 7:2
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Mark your own - answers tomorrow
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Set C




